Pour sortir du labyrinthe, retrouve les résultats de la table de 7.
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42 0 14 21 32 32 64
x| oxnlexn|lexn|uxn | axn | exn | exn
48 7 18 24 28 35 7 42
oxA | édxnlaxn lexnlexn | axn | exn | @éx?
34 28 52 77 30 1 40 56
exn loxn | axn | exn laoxn]l dxn |l oxn | x?)
98 72 70 21 14 0 70 7
Gxn L exn lexn laoxn] exn |l exn | ox?) |rox?)
78 48 14 40 24 12 7 60
exn L oxn | x|l exn laoxn]l dxn |l oxn | 1x?)
21 24 49 26 90 49 28 81
ax? | exn | exn Juoxn| exn | exn | ox? | G3x?)
50 44 21 56 18 55 81 30
ox? Jroxn ] exn |l exn | exn | exn | x| ex?
8 14 42 78 16 23 78 14
ex?) | B3x?) x|l oxn | éxn | ax?n | 0ox?
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ox? Jroxn ] exn | exn | exn | 6exn | txn | ©x
8 14 42 78 16 23 78 14
ex?) | Gx?) exn loxnlexn | ax?n | ©x




Pour sortir du labyrinthe, retrouve les résultats de la table de 7.
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30 16 21 32 16 23 12
oxA | dxn |l axn | exn|loxn | exn | axn | ox?
0 28 35 12 40 78 64 33
Gxn L exn lexn laoxn] exn |l exn | ox?) |rox?)
45 32 14 0 27 98 14 0
oxA | édxnlaxn lexnlexn | axn | exn | @éx?
52 10 7 70 21 28 1 27
ax? | ox?n Jaoxn| x| éxn | axn | @xn | @x?
70 67 80 24 32 7 21 49
exn loxn | axn | exn laoxn]l dxn |l oxn | 1x?)
12 7 8 38 27 24 0 64
ax? | exn | exn Juoxn| exn | exn | éx?n | 3x?)
50 14 21 70 21 0 56 7
oxA L oxn | axn |l exn laoxn]l dxn |l oxn) | 1x?)
8 17 7 44 56 21 10 21
ex?) | @x7) x|l exn | éxn | x| ©ex?
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ax? | ox? Jaoxn | x| 4Gx» | axn | 8x7 | @«
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exn |l oxn | axn | exn uoxn| x| ox? | (1x
12 7 8 38 27 24 0 61
axn L exn | exn laoxn] exn | ex?n | ex» | 3«
50 14 21 70 21 0 56 7
ox?n | oxn | ax?d | ex?» Jroxn| x| 0x? | (1x
8 17 7 44 56 21 10 2°
ex?) | @x7) x| exn | éxn | ¢Gx?) | ©x
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